

## THE PENTAGON

*A Mathematics Magazine for Students*

---

Volume 75 Number 2Spring 2016

---

## Contents

<i>Kappa Mu Epsilon National Officers</i>	3
Several Theorems Concerning the Irrationality of Certain Infinite Series Involving Tetractions <i>Joshua Stucky</i>	4
Murray Klamkin's Duality Principle for Triangle Inequalities <i>Daniel Sitaru</i>	10
<i>The Problem Corner</i>	15
<i>Report of the North Central Regional Convention</i>	25
<i>Report of the Great Lakes Regional Convention</i>	27
<i>Kappa Mu Epsilon News</i>	29
<i>Active Chapters of Kappa Mu Epsilon</i>	50

© 2016 by Kappa Mu Epsilon (<http://www.kappamuepsilon.org>). All rights reserved. General permission is granted to KME members for non-commercial reproduction in limited quantities of individual articles, in whole or in part, provided complete reference is given as to the source. Typeset in Scientific Word and WinEdt. Printed in the United States of America.

## ***Murray Klamkin's Duality Principle for Triangle Inequalities***

Daniel Sitaru

Mathematics Department

Colegiul National Economic Theodor Costescu  
Drobeta Turnu - Severin, Mehedinți, Romania

### **Abstract**

In this article we build inequalities using Murray Klamkin's duality principle. This is a way to solve inequalities in six variables, three of them being the lengths of sides in a triangle and the other three positive numbers.

### **1. Introduction**

In 1979, M. S. Klamkin published in "Elements der Mathematik" [3] the article "Triangle Inequalities from Triangle Inequalities" about the duality principle. Famous inequalities such as Euler's, Leibniz's, Ionescu-Weitzenböck's, Mitrinović's, Carlitz's, and Curry's can be restated using this principle. Using some notations in a new, constructed triangle, these inequalities are rediscovered in a classical form. We begin with Klamkin's theorem.

**Theorem 1** *If  $P \in \text{Int}(\Delta ABC)$ , let  $PA = x, PB = y, PC = z, AB = c, BC = a$ , and  $CA = b$ . Then  $ax, by, cz$  can be the lengths of the sides of a triangle.*

**Proof.** [3] [4] Let  $z_1, z_2, z_3, z_4 \in \mathbb{C}$  be such that the points  $A, B, C$ , and  $P$ . correspond to  $z_1, z_2, z_3$  and  $z_4$ , respectively. We can easily prove the identity:

$$(z_1 - z_4)(z_2 - z_3) + (z_2 - z_4)(z_3 - z_1) + (z_3 - z_4)(z_1 - z_2) = 0$$

and hence

$$-(z_3 - z_4)(z_1 - z_2) = (z_1 - z_4)(z_2 - z_3) + (z_2 - z_4)(z_3 - z_1).$$

Then

$$\begin{aligned} |-(z_3 - z_4)(z_1 - z_2)| &= |(z_1 - z_4)(z_2 - z_3) + (z_3 - z_4)(z_3 - z_1)| \\ &\leq |z_1 - z_4| \cdot |z_2 - z_3| + |z_3 - z_4| \cdot |z_3 - z_1| \end{aligned}$$

Hence:  $cz < ax + by$ . Analogously:  $ax < by + cz$  and  $by < ax + cz$ .  $\blacksquare$

Now let  $\Delta MNP$  have sides of lengths  $ax, by, cz$ , and let  $s$  be the semiperimeter,  $S$  the area,  $R$  the exradius and  $r$  the inradius. Then:

$$\begin{aligned} s &= \frac{ax + by + cz}{2} \\ S &= \frac{1}{4} \sqrt{(ax + by + cz)(ax + by - cz)(ax - by + cz)(by + cz - ax)} \\ R &= \frac{abcxyz}{\sqrt{(ax + by + cz)(ax + by - cz)(ax - by + cz)(by + cz - ax)}} \\ r &= \frac{\sqrt{(ax + by + cz)(ax + by - cz)(ax - by + cz)(by + cz - ax)}}{2(ax + by + cz)} \\ &= \frac{1}{2} \sqrt{\frac{(ax + by - cz)(ax - by + cz)(by + cz - ax)}{ax + by + cz}}. \end{aligned}$$

## 2. Applications

**Application 1** Let be  $P \in \text{Int}(\Delta ABC)$  and let  $PA = x, PB = y$ , and  $PC = z$ .

Prove that:

$$(ax + by - cz)(ax - by + cz)(by + cz - ax) \leq abcxyz$$

**Proof.** The inequality can be written:

$$\begin{aligned} (ax + by - cz)(ax - by + cz)(by + cz - ax)(ax + by + cz) \\ \leq abcxyz(ax + by + cz) \end{aligned}$$

or, equivalently,

$$\begin{aligned} &\frac{abcxyz}{\sqrt{(ax + by - cz)(ax - by + cz)(by + cz - ax)(ax + by + cz)}} \\ &\geq \frac{2\sqrt{(ax + by - cz)(ax - by + cz)(by + cz - ax)(ax + by + cz)}}{2(ax + by + cz)}. \end{aligned}$$

This is equivalent to  $R \geq 2r$ , which is Euler's Inequality for  $\Delta MNP$ .  $\blacksquare$

**Application 2** Let be  $P \in \text{Int}(\Delta ABC)$  and let  $PA = x, PB = y$ , and  $PC = z$ .

Prove that:

$$\begin{aligned} & \frac{a^2x^2 + b^2y^2 + c^2z^2}{a^2b^2c^2x^2y^2z^2} \\ & \leq \frac{9}{(ax + by + cz)(ax + by - cz)(ax - by + cz)(by + cz - ax)} \end{aligned}$$

**Proof.** The inequality can be written:

$$\begin{aligned} & (ax)^2 + (by)^2 + (cz)^2 \\ & \leq \frac{9(abcxyz)^2}{(\sqrt{(ax + by + cz)^2(ax + by - cz)(ax - by + cz)(by + cz - ax)})^2} \end{aligned}$$

which is equivalent to

$$(ax)^2 + (by)^2 + (cz)^2 \leq 9R^2.$$

This is Leibniz's Inequality for  $\Delta MNP$ . ■

**Application 3** Let be  $P \in \text{Int}(\Delta ABC)$  and let  $PA = x, PB = y$ , and  $PC = z$ .

Prove that:

$$\begin{aligned} & (a^2x^2 + b^2y^2 + c^2z^2)^2 \\ & \geq 3(ax + by + cz)(ax + by - cz)(ax - by + cz)(by + cz - ax). \end{aligned}$$

**Proof.** The inequality can be written:

$$\begin{aligned} & (ax)^2 + (by)^2 + (cz)^2 \\ & \geq 4\sqrt{3} \cdot \frac{(ax + by + cz)(ax + by - cz)(ax - by + cz)(by + cz - ax)}{4} \end{aligned}$$

or, equivalently,

$$(ax)^2 + (by)^2 + (cz)^2 \geq 4\sqrt{3}S,$$

which is Ionescu - Weitzenbock's Inequality for  $\Delta MNP$ . ■

**Application 4** Let be  $P \in \text{Int}(\Delta ABC)$  and let  $PA = x, PB = y$ , and  $PC = z$ .

Prove that:

$$27(by + cz - ax)(ax + cz - by)(ax + by - cz) \leq (ax + by + cz)^3$$

**Proof.** The inequality can be written:

$$27(by + cz - ax)(ax + cz - by)(ax + by - cz)(ax + by + cz) \leq (ax + by + cz)^4$$

or, equivalently,

$$27 \cdot 16 \cdot S^2 \leq (ax + by + cz)^4.$$

Then

$$12\sqrt{3} \cdot S \leq (ax + by + cz)^2$$

so that

$$6\sqrt{3} \cdot r \cdot (ax + by + cz) \leq (ax + by + cz)^2.$$

It follows that

$$6\sqrt{3} \cdot r \leq ax + by + cz$$

or

$$6\sqrt{3} \cdot r \leq 2s$$

and hence that

$$3\sqrt{3}r \leq s.$$

This last is Mitrinovic's Inequality for  $\Delta MNP$ . ■

**Application 5** Let be  $P \in \text{Int}(\Delta ABC)$  and let  $PA = x, PB = y$ , and  $PC = z$ .

Prove that:

$$(ax + by + cz)^3 (ax + by - cz)^3 (ax - by + cz)^3 (by + cz - ax)^3 \leq 27(abcxyz)^4$$

**Proof.** The inequality can be written:

$$\begin{aligned} & \sqrt{(ax + by + cz)(ax + by - cz)(ax - by + cz)(by + cz - ax)} \\ & \leq \sqrt{3}(abcxyz)^{\frac{2}{3}} \end{aligned}$$

or, equivalently,

$$4S \leq \sqrt{3} \cdot \sqrt[3]{(ax)^2 \cdot (by)^2 \cdot (cz)^2}.$$

Then

$$\frac{4S}{\sqrt{3}} \leq \sqrt[3]{(ax)^2 \cdot (by)^2 \cdot (cz)^2},$$

which is Carlitz's Inequality [1] for  $\Delta MNP$ . ■

**Application 6** Let be  $P \in \text{Int}(\Delta ABC)$  and let  $PA = x, PB = y$ , and  $PC = z$ .

Prove that:

$$(ax + by + cz)^3 (ax + by - cz)(ax - by + cz)(by + cz - ax) \leq 27(abcxyz)^2$$

**Proof.** The inequality can be written:

$$(ax + by + cz)(ax + by - cz)(ax - by + cz)(by + cz - ax) \leq \frac{27(abcxyz)^2}{(ax + by + cz)^2}$$

or, equivalently,

$$16(S)^2 \leq \frac{27(abcxyz)^2}{(ax + by + cz)^2}.$$

Then

$$4S \leq \frac{3\sqrt{3}abcxyz}{ax + by + cz}$$

and hence

$$4\sqrt{3}S \leq \frac{9(ax)(by)(cz)}{(ax) + (by) + (cz)},$$

which is Curry's Inequality [2] for  $\Delta MNP$ . ■

#### *References*

- [1] L. Carlitz and F. Leuenberger, Problem E 1454, *American Mathematical Monthly*, Vol. 68, pg. 177 and 805–806, 1961.
- [2] T. R. Curry, Problem E 1861, *American Mathematical Monthly*, Vol. 75, pg. 199, 1966.
- [3] M. S. Klamkin, *Triangle Inequalities from Triangle Inequalities*. Elements der Mathematik, 1979, vol. 34, pp 49–55.
- [4] Daniel Sitaru, *Math Phenomenon*. Paralela 45, Publishing House, Pitesti, Romania, 2016.